

n-

1.

$$\begin{aligned} \text{a) } 1+2+\dots+n &= \frac{n(n+1)}{2} \\ \text{b) } 1^2+2^2+\dots+n^2 &= \frac{n(n+1)(2n+1)}{6} \\ \text{c) } 1^3+2^3+\dots+n^3 &= \frac{n^2(n+1)^2}{6} \end{aligned}$$

1'.

$$\begin{aligned} \text{a) } 1+2+\dots+n &= \frac{n(n+1)}{2} \\ \text{b) } 1^2+2^2+\dots+n^2 &= \frac{n(n+1)(2n+1)}{6} \\ \text{v) } 1^3+2^3+\dots+n^3 &= \frac{n^2(n+1)^2}{6} \end{aligned}$$

$n \cdot$

)

1

S_n

n

1, ... $a_1=1$ $d=1$.

:

$$1+2+\dots+n = S_n = \frac{n}{2}(2a_1 + (n-1)d) = \frac{n}{2}(2 \cdot 1 + (n-1) \cdot 1) = \frac{n(n+1)}{2}.$$

))

), ...

))

$n \cdot$

2.

$$1^4 + 2^4 + \dots + n^4 = \frac{n(n+1)(2n+1)(3n^2+3n-1)}{30}.$$

$$S_m(n) = 1^m + 2^m + \dots + n^m, \quad m \geq 1$$

$$S_0(n) = n.$$

$$S_m(n) = \frac{1}{m+1} \left((n+1)^{m+1} - 1 - \sum_{i=0}^{m-1} \binom{m+1}{i} S_i(n) \right). \quad (*)$$

$$\sum_{i=0}^{m+1} \binom{m+1}{i} S_i(n) = I,$$

$\Sigma.$

$$I = \sum_{i=0}^{m+1} \binom{m+1}{i} S_i(n) = \sum_{i=0}^{m-1} \binom{m+1}{i} S_i(n) + \binom{m+1}{m} S_m(n) + \binom{m+1}{m+1} S_{m+1}(n).$$

$$\binom{m+1}{m} = m+1 \quad \binom{m+1}{m+1} = 1$$

$$I = \sum_{i=0}^{m+1} \binom{m+1}{i} S_i(n) = \sum_{i=0}^{m-1} \binom{m+1}{i} S_i(n) + (m+1)S_m(n) + S_{m+1}(n). \quad (1)$$

$$I = \sum_{i=0}^{m+1} \binom{m+1}{i} S_i(n) = \sum_{i=0}^{m+1} \binom{m+1}{i} (1^i + 2^i + \dots + n^i)$$

$$= \sum_{i=0}^{m+1} \binom{m+1}{i} + \sum_{i=0}^{m+1} \binom{m+1}{i} 2^i + \dots + \sum_{i=0}^{m+1} \binom{m+1}{i} n^i.$$

$$(a+b)^n = \sum_{i=0}^n \binom{n}{i} a^{n-i} b^i \quad a=1, b=l \in \mathbb{N},$$

$$n = m+1 \quad (1+l)^{m+1} = \sum_{i=0}^{m+1} \binom{m+1}{i} l^i,$$

$$I = 2^{m+1} + 3^{m+1} + \dots + (n+1)^{m+1}.$$

$$I = 1^{m+1} + 2^{m+1} + 3^{m+1} + \dots + (n+1)^{m+1} - 1.$$

$$1^{m+1} + 2^{m+1} + \dots + n^{m+1} = S_{m+1}(n),$$

$$I = S_{m+1}(n) + (n+1)^{m+1} - 1. \quad (2)$$

(1) (2)

$$\sum_{i=0}^{m-1} \binom{m+1}{i} S_i(n) + (m+1)S_m(n) + S_{m+1}(n) = S_{m+1}(n) + (n+1)^{m+1} - 1.$$

$$S_m(n)$$

(*), . . .

$$S_m(n) = \frac{1}{m+1} \left((n+1)^{m+1} - 1 - \sum_{i=0}^{m-1} \binom{m+1}{i} S_i(n) \right).$$

$$(*), \quad S_0(n) = n, \quad m = 1$$

$$\begin{aligned} 1+2+\dots+n &= S_1(n) = \frac{1}{1+1} \left((n+1)^{1+1} - 1 - \sum_{i=0}^{1-1} \binom{1+1}{i} S_i(n) \right) \\ &= \frac{1}{2} \left((n+1)^2 - 1 - \binom{2}{0} S_0(n) \right) = \frac{1}{2} (n^2 + 2n + 1 - 1 - 1 \cdot n) \\ &= \frac{1}{2} (n^2 + n) = \frac{n(n+1)}{2}. \end{aligned}$$

$$1+2+\dots+n = \frac{1}{2} (n^2 + n) = \frac{n(n+1)}{2}.$$

$$, \quad m = 2 \quad (*)$$

$$\begin{aligned} 1^2 + 2^2 + \dots + n^2 &= S_2(n) = \frac{1}{3} \left((n+1)^3 - 1 - \sum_{i=0}^{2-1} \binom{3}{i} S_i(n) \right) \\ &= \frac{1}{3} \left(n^3 + 3n^2 + 3n + 1 - 1 - \binom{3}{0} S_0(n) - \binom{3}{1} S_1(n) \right) \\ &= \frac{1}{3} \left(n^3 + 3n^2 + 3n + 1 - 1 - n - \frac{3n^2 + 3n}{2} \right) = \frac{1}{6} (2n^3 + 6n^2 + 4n - 3n^2 - 3n) \\ &= \frac{1}{6} (2n^3 + 3n^2 + n) = \frac{n}{6} (2n^2 + 2n + n + 1) = \frac{n(n+1)(2n+1)}{6}. \end{aligned}$$

$$3. \quad S_0(n), S_1(n) \quad S_2(n)$$

$$S_3(n) = 1^3 + 2^3 + \dots + n^3 = \left(\frac{n(n+1)}{2} \right)^2.$$

$$m = 4.$$

(*)

$$\begin{aligned} S_4(n) &= 1^4 + 2^4 + \dots + n^4 = \frac{1}{5} \left((n+1)^5 - 1 - \binom{5}{0} S_0(n) - \binom{5}{1} S_1(n) - \binom{5}{2} S_2(n) - \binom{5}{3} S_3(n) \right) \\ &= \frac{1}{5} \left(n^5 + 5n^4 + 10n^3 + 10n^2 + 5n + 1 - 1 - n - 5 \frac{n^2+n}{2} - 10 \frac{2n^3+3n^2+n}{6} - 10 \frac{n^4+2n^3+n^2}{4} \right) \\ &= \frac{1}{5} \left(n^5 + 5n^4 + 10n^3 + 10n^2 + 4n - \frac{5n^2+5n}{2} - \frac{10n^3+15n^2+5n}{3} - \frac{5n^4+10n^3+5n^2}{2} \right) \\ &= \frac{1}{5} \frac{6n^5 + 30n^4 + 60n^3 + 60n^2 + 24n - 15n^2 - 15n - 20n^3 - 30n^2 - 10n - 15n^4 - 30n^3 - 15n^2}{6} \\ &= \frac{1}{30} (6n^5 + 15n^4 + 10n^3 - n). \end{aligned}$$

$$P_4(x) = 6x^4 + 15x^3 + 10x^2 - 1 \quad x_1 = -1$$

$$x_2 = -\frac{1}{2},$$

$$1^4 + 2^4 + \dots + n^4 = \frac{1}{30} (6n^5 + 15n^4 + 10n^3 - n) = \frac{n(n+1)(2n+1)(3n^2+3n-1)}{30}.$$

,

:

$$4. \quad 6n^5 + 15n^4 + 10n^3 - n \quad 30$$

n .

,

$$S_5(n) \quad (*)$$

n .